SWING

CLAMP CYLINDER

JKB

012, 816, 020, 825, @32, @40

A% SUT A2l

OO E 7[2LHE/ LA ZHAL/ Arm 22t 0|H Z St
22l 2|e|o|Lf Z=&H/ Clamp Arm User | =k

Built in magnetic field / Improve durability / Extend Arm mounting side
Mounting Lube-retainer / Made Clamp Arm by User



SWING CLAMP CYLINDER

JKB - 12,16, 20, 25, 32, 40

B £%! (Character)
- O}OH|E 7|2 L
Built in magnetic field
- LhT B
Improve durability
= Arm S5} 0|1 Z 5y
Extend Arm mounting side
- 29l 2jgol B
Mounting Lube-retainer

= Clamp Arm User X| &
Made Clamp Arm by User

B H|Z AL ( Specification )

==i'

FEHZA (mm)
Bore size

RHEHFAL
oo
Action
SMZE 51
Rotary angle
5| =
Rotary direction
SIMAERZST (mm)
Rotary stroke
SYTAEZT(mm)
Clamp stroke
0|2 Sa24x3 N5
ThéT)retic?l cla_r|np force N 40 £
ASRA|
Fluid
22 ot
Proof pressure
AL etz
Operating pressure range

7.5

Fo2E A AZRARE REALR A=

Ambientand fluid temperature

oo

BT
Lubrication
BT 272
Piping port size
x|
Mounting

74

Cushion

AEZ3 200|9| 3|2x}
Stroke length tolerance

IAS A6 5
Piston speed

SNFE(EH=R) #

ot -5-70°C(SH2l0fo
SEA9lx| 23} 5-

HEA|
o

Duble acting
90°£10°
Z}-2 Clockwise, Counterclockwise
| 95 15
10, 20,30 10,20, 30
| 185
37| Air
1.5MPa
0.1~1MPa

300 525

21
s

F Without auto switch : -5~70°C ( No freezing)
60°C(SZAl0{of &

St With auto switch : -5~60°C ( No freezing)
=Z2 Non-lube

Rc1/8, NPT1/8
G1/8

5| == Z&2HX| Through-hole -Both ends tapped common, Head flange

2{H{F M Rubber bumper

+0.6
-04

50 ~ 200mm/s

Non-rotation accuracy +1.4° +1.2° +0.9°
Clamp part
F1) 2= ZERR| 24E O218 EZ FHIAIL. Note 1) Refer to Rotary Angle figure.
Z2) REZ0|AM EUSU I AE BZE STIAIQ| 5| M-St Note 2) Direction of rotation viewed from the rod end when the piston rod is retracting
Z3) 024 0.5MPagl O] S ITZ L}EpHL|C Note 3) Clamp force at 0.5 MPa

Z4) MRICO= HICA| AT|E PESRIS Ma3D A2ig
50~200mm/s B12|7} £| =2 TX™ 6l TAA|2L.
3t AuE AES2HE HE 2] Aol AME| €0l SE X

==

EE

Note 4) Be sure to install a speed controller to the cylinder,
and adjust the cylinder speed to make it within the range from 50 to 200 mm/s.
To adjust the speed, start with the needle in the completely closed position,

and then adjust it by opening gradually.
www.jrtfa.com m

I stol FYAL

314



= JKB 812, 16, 20,

25,32, 40

777

N

]

y
i | I

n
7

| SAHE Y HZE

Mo
Number

(==
=20
Part Name
H2ic| Fu
Body

OIE|:||E c>|-:1
Aluminum alLoy

B L|EF%=% (Construction)

| Components and Material list

xl H|Z HS
Mater\at Remarks Number

27 ot=njo|E
Hard anodized

| Arm&=t | User H|&

Y o
!////////////
i

HIZ
s20
Part Name

Bumper

WE H|31
Material Remarks

ai|Et
Urethane

257

Rod cover

OIE|:||_E ol:l
Aluminum alLoy

#3 a=ojole
Hard anodized

R

Magnet

DA
Piston

OIE|:||_E c>|-:1
Aluminum alLoy

#loi
Wear ring

=
Resin

LAERE

Piston rod

2H|el2|aZ
Stainless steel

012~025 ZakAz|
012~025 Nitriding

=
Rod seal

e
Carbon steel

(#32~P40 HXj2|
(032~p40 Heated, Nickel plated

D= Tf
Piston seal

SA|
Busing

Sz EGEW

Copper bearing material

(032~P40THALZ
932~040 only

7123l
Gasket

AE2|
=
Stop ring

2H|ol2|aZ
Stainless steel

(#20~P322HAL2
#20~032 only

0-ring

020~@322 ALZ
020~332 only

Ca A2l
C-type retaining ring

et 272t
Carbon tool steel

040

Arm

Qlota}
Rolled steel

S27A TR
Hexagon socket head set screw

32 2|0y
Chromium molybdenum steel

MR 90°
Sharp and section 90°

S2po e

Hexagon socket head cap screw

IE E2EHY
Chromium molybdenum steel

Jtol=H
Guide pin

2H|el2|aZ
Stainless steel

A2
Nitriding

AT2| 9N
Sprong washer

%2
Head steel

0-ring

NBR

Sz e
Clamp bolt

3 So|oniy
Chromium molybdenum steel

R-3 A2l
Round R-type retaining ring

Ets 232t
Carbon tool steel

g7tLE

Hexagon nut

Qloia}
Rolled steel

EEZWS|EESEET}

Rod flange s not compatible with hed flange

Y A3Feo|H
Coil scraper

SZAf
Made to order

Z2R|
Flange

Qloia}
Rolled steel

2 z[HolH

(#20~P402HALS
@20~@40 only

<lofd
Wear ring

(#20~P402ALZ
920~040 only

SRR 2

Hexagon socket head cap screw

52 Se|=iniy
Chromium molybdenum steel

@32, 040 : 47}
@32, D40 : hpcs

(20, 925 : 274
20, 025 : 2pcs

www.jrtfa.com m




B F=27|% (Howto Order)
i
Sz sy HASE

EIXALOE
_'_E‘M.% Clamp Rotary Number of
Mounting Direction Sensor

a-msapm RS R- 23/F 12194
pE= (EZH) ore size L- 3™ 27|35 - )
Product 2A -Through hole 12,16, 20 R - Clockwise 1-1pc.
Name /Both ends tapped 25,32, 40 L - CounterClockwise Nil - 2pcs.

oA | 32 - 20

T

l

Exuy M HAf 4 Zol

Standard Stroke Sensor Type Sensor Cable Length

12:10,20,30 25:10,20,30 7|5 - 4N YL BRALES HTsHx| YLICk 215 - 1m
16:10,20,30 32:10,20,30  RSUIZA) JIIAL 2AjoIA g3t elojol 3M -3m
20:10,20,30 40:10,20,30  HME HTslol FHH ZHHEL 2
e P e T el
HA] b4 o[RS 2 st R A S TS0l = H
444 S0[RI &7 vfEick

Nil - Sensor and relevant components are not supplied.
When entering RS(existing method), our Head Office will
attach a suitable sensor selected at its option.

Nil- Tm

3M-3m

5M - 5m

Q - Quick connector

* For the specification of connector

* For the specification of sensor attachable to the product
and the sensor order code, refer to details of sensor part.

and availability, refer to details of
sensor part.

www.jrtfa.com m




B ZEz2| Zt= 22 (Rotary Angle )

OIS T A (FIFIEN . SFUTA|(HZIEH

During unclamping Y During unclamping
(Extension end) (Extension emﬂ

80°~100° 80°~100°
(90°£10°) (90°£10°)
L type r ﬂ, Rtype
(=t2IH) (=1H)
Counterclockwise - i T - C?;ckwise

Saluo-
=ea—T

Clamp part

ST $7IEH
During clamping (Retraction end)

B 0|£Z2]% (Theoretical Output )

RHEH}SE AE 22 (MPa)
oo o | 20HHAM(cm?) Operating pressure
Piston area

FEWEmm) | ZEXE(mm)

Bore size Rod size st

Direction

40 16

2221 (N)=2/2 (MPa)x-2 018 (cm?)x1002JL|c}.
XEUs IN:SUT OUT: HSUE

Theoretical output[N] = Pressure[MPa] x Piston area(mm?] x 100
Operating Direction IN : Clamp OUT : Unclamp

www.jrtfa.com m




B Z2FE (Masstable)

FELHZ (mm)

%EI:I-IIE AEZF (mm) Bore Size
Clamp Stroke

B 2= Arm 2 ( Clamp Arm Mounting and Removal )

= b —

/I\ CAUTION

210} XS THIX| 22 AleHolAl 23

1. 2ol ArmS B-RARE 4 e :
panner

=
ArmE AU 2 DFslo] EES ERAS0] A BIZLICH

2. ArmS 1HSHA| 42 MEjolA HRIHE 2H|of 1Y5t0f 2EAZA
Lol ot=3t Bl0| ThsiA LS RE0| £4S ot SAER| Jelo|
E| & 0IA|_||:|.
= T MH .

3. Arm M|ZHA|= 2|2 2E0| 0|HE D} SUSH AR J+E510] 5|
2L 2 7}@sl0] TA|7| Hi2ILCH

1. When the arm is mounted onto or removed from the piston rod, do not fix the
cylinder body. but hold the arm with a spanner when tightening or loosening
the bolt

2.in the bolt tightened with the cylinder body fixed, excesslve rota-tion force
will be applied to the piston rod, which may damage the internal component.

3. Note that when makeing an arm, machine it so that it engages with the width
across flats on the rod end to prevent it from rotating.

™ HZAEA | Proper Tightening Torgue

Bore size

MNX 7'(-||7EiE )
;ro?erTighteningTorgue e ©T 11.5~140

S242%]
Hexagon wrench key

www.jrtfa.com m




inthe case of @12

SEALIR|
Auto switch

ELtAL RE20IF
Effective thread depth

2= 2| 2E3] 10

Min bending radius of lead wire 10

| 7|24 | Basic

2-V

ERERE)

Port size

Opposite side is the same

(Che S x|)

HaAM
Flatwasher /* __|

e
WithU pcs

4P N

(Ched S x|
Opposite side is the same

o:l Al L1
Bore size

012

15.5

M3x0.5

16.8

016

29

38

20

M5x0.8

6.5

8

13.4

7.3

020

36

47

M8x1.25

"

17.9

12

25.9

8.3

025

40

52

28

M8x1.25

"

22.5

12

27.3

10.3

o:i /\| L2
Bore size

012

M4x0.7

M5x0.8

11 -0.043

016

3.5

M4x0.7

M5x0.8

14 80

020

3.5

Mé6x1.0

M5x0.8

1880w

025

3.5

Mé6x1.0

M5x0.8

23 8052

34|

Bore size

EEYE

Rod state 30mm

455 55.5 108 65.5

K|_|A| Retracted

TIA| Extended 85.5 45.5 115.5 55.5 145.5 65.5

TIA| Retracted 68 455 88 55.5 108 65.5

ZIA| Extended 45.5 55.5 145.5 65.5

Kl_lAl Retracted ) 72 . 82 1325 92

K|_|A| Extended 72 82 172 92

Kl_lAl Retracted . 73 . 83 133.5 93

K|_|A| Extended 73 83 173 93

www.jrtfa.com m




Through-hole / Both ends tapped common

ELtA 75200IF
Effective thread depth

| 7|24 | Basic

2-V(Rc, NPT, G)

(=3 el

Port size

Opposite side is the same

(CHH S x|%)

HoAM

Flatwasher
e
With 4pcs

4P

(Ched S x|
Opposite side is the same

E-AENENKEEN
Bore size
32 45 60 34 14

M10x1.5

F
12 29.5

Lo
16 3

mm
6.5

30.4

12.4

040 52 69 40

14

M10x1.5

12 29.5

16 3

30

8 6.5

Efefe ] » 6]
Bore size
32 5.5 55

Méx1.0

9

1 1/8 14

I

30 Sos2

Z
4.5

040 5.5 5.5

M6x1.0

9 1

1/8

14

30 8052

5

HA
a4y

2 EMEY

Bore size Rod state

K._lAl Retracted

113.5

ZIA| extended

138.5

81.5

Bl AEEF Clamp stroke

e | ew [ wm

153.5

133.5

168.5

30mm

91.5

198.5

101.5

ZIA| Retracted

114.5

ZIA| Extended

139.5

134.5

169.5

154.5

199.5

www.jrtfa.com m




JKB 012,16, 20, 25

Arm 22 (Userd| =/ ZL04|A[)
With Arm (made by user / example

ZEY
3| MEkstE ;L Port side
IS UZA|HTIEH

Rotary direction : L f f Rotary direction : R
During unclamping i i During unclamping
(Extension end| %) 7, (Extension end|

—

U
SYEA]
(ZTIAD

During clampin:

(Retraction end

mm
N O N I R T
Bore size
8 29 20 8 8~18

012 4 M3x0.5

016 5 36 25 " M4x0.7 8~18

020 7 51 35 16 Méx1.0

025 Mé6x1.0

24 2C A

AE
Bore size Rod state 2EE3 ClappRiie

BA| Retracted 38.5 48.5

BA| Extended 66 86

BA| Retracted . 415 51.5

016
K|_|A| Extended 69 89

7(|_|A| Retracted 42 52
020

7(|_|A| Extended . 71.5 91.5

TIA| Retracted 42 52
025

7(|_|A| Extended ) 715 91.5

% Arm2 ALSAH|IZZE LT
Arm made by user

www.jrtfa.com m




JKB 032, 40

Arm 22 (Userd| =/ ZL04|A[)
With Arm (made by user / example

ZEH

Port side

STt L

RSB (RTIEN
Rotary direction: L

During unclamping
(Extension end)

Rotary dlrectlon R
During unclamping
(Extension end)

K

20

EVEN
S7IA))

During clampin
(Retraction end

34| 2=

Bore size Rod state

7(|_|A| Retracted

TIA| Extended

TIA| Retracted

D40
TIA| Extended

% Arme AF2A} M| EHEeIL|CL
Arm made by user

www.jrtfa.com m




JKB 012,16, 20, 25

5|== ZHK|E (Userr| &/ ZH0A)
Head flange (made by user/ example 4FY

(ExH=2E)
Speualcap bolt

/

|
[

o:l A|
Bore size

012 M4x0.7

016 4.5 . M4x0.7 30 45 55

020 6.6 M6x1.0 39 48 60

025 6.6 Mé6x1.0 42 52 64

JKB 332, 40

§|=Z ZUX|H (Userd|ZH/ 2 T04|A| )
Head flange (made by user/ example) ) 4-FY

(Ex2E)
Speclalcap bolt

L7

©

JAI
Bore size

Méx1.0

P40 40 5.5 54 62 Mé6x1.0 72

www.jrtfa.com m




JKB 012,16, 20, 25

ECE ZAXY (Userd|ZH/ Z104A)
Rod flange (made by user / example )

s MM 0]210] K| 5 =2 Z2ix|33} SsH L.
The dimension other than MM are the same as those of head flange.

s M| 0]2]9] ArmA|-= Arm At nt SBHH Tt
The Arm dimension other than MM are the same as those of Arm

mm
e ZC A - S
o | on | o | o | o | o]
23 33 43 37

K‘_|A| Retracted

-|7<|_|A| Extended 60.5 80.5

7(|_|A| Retracted

TIA| Extended

TIA| Retracted

TIA| Extended

TIA| Retracted

1ZIA| Extended

www.jrtfa.com m




JKB 032, 40

ECE ZAXY (Userd|ZH/ Z104A)
Rod flange (made by user / example )

# MM 0219 x| 5| =5 EUR| Y SLSILITL

The dimension other than MM are the same as those of head flange.
# MR|= 0(2]9f ArmA|= ArmE Ao SR

The Arm dimension other than MM are the same as those of Arm

SAl ZCA
= — EH Z 3 Clampstroke AEZ 3 Clampstroke

Bore size Rod state
o | oo | om | |

7(|_|A| Retracted 47 57

K|_|A| Extended 82 102

7(|_|A| Retracted 64.5

KI_|A| Extended 109.5

www.jrtfa.com m






